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Key points

Labour will need to win at least 106 seats in 2020 to secure a majority, after taking
account of the forthcoming boundary changes.

The electoral swing required in marginal seats to win a majority will be over
twice that which Labour needed for victory in 2015.

This assumes a similar rate of progress in England/Wales and in Scotland; if
Labour makes no gains in Scotland, the party would need to perform better in
England and Wales than at any time since 1997.

Around 4 out of 5 of the extra (net) votes Labour will need to gain in English and
Welsh marginals will have to come direct from Conservative voters (in 2015 this
figure was around 1 out of 5, because of the Lib Dem meltdown).

“English Votes for English Laws’ no longer poses a separate challenge to Labour,
over and above the task of winning a UK majority. It is actually slightly easier for
Labour to win a majority of English seats than of UK seats.

But an anti-Tory alliance led by Labour would find it harder to achieve a majority
in England (under EVEL) than across the UK. An alliance of parties could achieve
a UK majority by gaining 38 seats but would need to gain 71 seats for an English
majority. This task would be easier if the Liberal Democrats were to stage a
recovery in areas of England where Labour is weak.

5 political conclusions

1.

Labour needs to champion popular, big-tent politics to reach deep into middle
England, revive support in Scotland and strengthen relationships with
disillusioned voters in former heartlands.

The litmus test for Labour’s strategy is simple: can the party win over large
numbers of people who voted Conservative and SNP in 2015?

In the debate on English devolution Labour can ignore party interest. It should
seek reforms that reflect the national interest of England and of the UK.

The party needs to reflect with care on its approach to the Liberal Democrats. A
Lib Dem revival in the South West is in Labour’s interests, but a comeback in
Labour/Conservative marginals is not.

A hung parliament in 2020 could create very undesirable political and
constitutional problems. This makes winning a Labour majority even more
important; however an inconclusive outcome is likely and the party should start
to consider the implications.




An illustration of possible Labour 2020 target seats — before boundary changes
(ordered by size of required electoral swing)!
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1. The path to a majority

Labour’s long road back to majority government lies through Harlow and Kircaldy.
The Essex new town and Gordon Brown’s former Fife bastion are Labour’s 105" and
106" most winnable constituencies — and Fabian Society analysis shows the party
must gain at least 106 seats to reach a majority. As things stand Labour has 232 MPs,
94 short of a majority. But that is before the scheduled boundary changes, which
could reduce the notional number of Labour seats to 220 at the next general election
—ie 106 fewer than the 326 seats needed for a majority of one.

Our estimate of 220 is derived from two independent assessments of the 2015
election results, re-calculated on the basis of the proposed 2013 boundary review
constituencies. However for ease of comparison we have scaled-up these projections,
to assume the new House of Commons retains 650 constituencies.? This estimate
could be over-optimistic for Labour, as the new boundary review which will
commence this December could prove even less favourable than the last one
(particularly because it will be expected to equalise the number of electors on the
basis of the new electoral roll, following the introduction of individual registration).?
So 106 gains is the minimum that might be needed for victory, compared to the 68
that Labour needed for a majority this year.

And it gets worse, because when you look at electoral swing, the task of winning a
majority will actually be more than twice as hard: to win the 106t target seat, Labour
will need to achieve a swing of 9.5 percentage points; by contrast, in the 2015 election
the swing required to gain the majority seat was just 4.6 points.

Net seats Labour must win for a majority of 1 (after boundary changes)

Total seats required*
E&W seats 93 85 106
Scottish seats 13 21 0
Required swing in marginal
seats (ppts)

E&W seats 9.5 8.7 114
Scottish seats 9.5 11.5 0
Implied UK vote share 40 39 42

* Assumes House of Commons of 650 MPs

Achieving a shift of around 9.5 percentage points in the pivotal marginal seats will
almost certainly require a similar shift nationwide. That implies that Labour will
need to earn around 40 per cent of the vote to win a majority of one, since it starts
from a 2015 vote of 30.4 per cent. This is a remarkable reversal of electoral fortunes

2 Estimates by Electoral Calculus and UK Polling Report
3 Baston, L, Electoral Collision Course?, Constitution Society, 2014
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http://www.consoc.org.uk/wp-content/uploads/2014/09/COSJ2466_Electoral_collision_course_report_09.14_WEB.pdf

for Labour, which used to require fewer votes than the Conservatives to win a
majority. In 2005 Labour won a 66 seat majority with 35 per cent of the vote, while
now it may well need 40 per cent to have any majority at all. By contrast, after the
boundary changes, the Conservatives will be able to retain their majority with
around 36 per cent of the vote.

These calculations are not firm projections because they do not take the relative
performance of the other parties into account. And they will obviously need revision
once the boundary review is complete. But they give a sense of the mountain Labour
has to climb. A recovery on this scale is achievable because it has been done before.
Labour won a similar swing between 1992 and 1997, when the shift between the
Conservatives and Labour was around 10 percentage points.

2. What about Scotland?

So far this analysis has assumed that Labour is able to recover at the same pace in
Scotland as in England and Wales. But that assumption could prove incorrect. If
Scottish Labour staged no recovery at all, then all 106 seats would need to be won
south of the border. That would mean achieving a swing of around 11%2 percentage
points in marginal seats to win constituencies like Burton. Translated into a national
result, that would imply Labour would need to win around 42 per cent of the vote,
something no party has achieved since 1997.

On the other hand, Labour might recover faster in Scotland than elsewhere,
considering the party is starting from such a low base. If Labour could achieve a
swing of around 11%2 points in its Scottish target seats this would deliver 21 seats in
Scotland, leaving 85 to be won in England and Wales. It would still be a very tall
order, but a Labour victory would become possible with a swing in the decisive
English marginals of under 9 per cent. Victory would require taking seats like
Watford; and the required national share of the vote would be around 39 per cent.
This is still a very big number, but slightly less daunting as a target.

3. Not so EVEL...

Labour is now so weak in Scotland, that “English Votes for English Laws” (EVEL) is
no longer something the party needs to fear. In another extraordinary twist, Labour
is now stronger in England than it is in the UK as a whole, in terms of its share of
seats (39 per cent of English constituencies) or share of votes (32 per cent). This
means that (on paper) it is now easier for Labour to achieve a majority in England
and control English legislation than to form a majority UK government.

We estimate that Labour would enter the 2020 election defending a notional 195
seats out of 544 English seats (again, the calculations are based on the 2013 boundary
review, but scaled to 650 seats). A majority of one would therefore require Labour to



gain 78 seats in England, which could be achieved on a swing of 8.9 percentage
points in the relevant marginal constituencies. This compares to the 9.5 point swing
needed to secure a UK majority.

4. The declining role of smaller parties

Unlike in 2015, in English and Welsh marginal seats there will be few ‘low-hanging
fruit” in the shape of non-Conservative voters who can be squeezed. This year
Labour was able to make progress against the Conservatives, outside Scotland,
because it gained Lib Dem voters (despite everything else that went wrong, Labour
won over twice as many ex-Lib Dems as the Tories did). But that was a one-off
dividend arising from the coalition.

Majorities needed in Labour/Conservative marginal seats to win a majority — and
available voters

England and Wales
Scottish recovery 8.7 8,400 4,400 6,900
Uniform GB swing 9.5 9,400 4,900 6,700
Scottish stagnation 114 11,400 4,600 7,900
England
EVEL majority 8.9 9,000 5,100 7,400

Note: to account for local variation, each row reports the average votes for a cluster of 10 constituencies

In 2020 Labour will only be able to achieve a big swing in Tory marginals by
winning over large numbers of (net) votes directly from the Conservatives. In part,
that’s simply because the number of votes required is so great, but it is also because
(unlike in 2015) there appear to be few opportunities to benefit from the misfortunes
of other parties:

e Liberal Democrats and Greens: together the Lib Dems and Greens won only 12
per cent of the UK vote, and slightly less in most of the marginal seats Labour
now needs to win. Lib Dems and Greens will therefore be too few in number to
have a major effect on key seat results, relative to the size of current Tory
majorities. Moreover squeezing significant numbers of voters from either party
could prove challenging: if anything, Labour may struggle to restrict the
combined Lib Dem/Green vote to its 2015 level, for example if there is a modest
Lib Dem recovery.

e UKIP: UKIP may maintain its current strength; it may continue to grow; or it
may implode. But whatever happens, it is hard to see Labour being a significant
net beneficiary, relative to the Tories, since UKIP takes votes from both parties.
For example, Labour could only expect to gain significant votes directly from



UKIP if the party self-destructs; but in this case, the Tories would probably
benefit in a fairly similar way.

In each marginal seat, perhaps Labour will be able to gain 1,000 or so non-Tory votes
(over any gains the Conservatives make themselves). But that means at least 4 out of
5 extra votes will need to come from a (net) shift from current Conservative voters.
This is broadly the opposite of 2015, when around 1 in 5 of the (net) gain Labour
needed for a majority had to come directly from Conservatives. It goes without
saying that this has significant implications for the party’s political strategy.

5. Plan B: governing in partnership

Labour can and must aim for a majority — in England and the UK. However, with
such a huge mountain to climb, it needs some intermediate objectives too, even if
they only feature in the party’s private thinking. While a majority should be the
target, Labour should also consider what it will take to deprive the Tories of power.
Even this will be far harder than it might have been in 2015: after the boundary
changes the notional Conservative majority will be around 52, so the Tories would
need to lose 26 seats for there to be a hung parliament.

Labour will need to gain 53 seats to be able to govern in some sort of partnership
with the SNP (and this would exclude any seats won from the Nationalists
themselves). This implies achieving swings of a little over 5 percentage points in
Conservative marginals and a national vote of around 36 per cent. The threshold for
success is only marginally lower if you include the smaller left-leaning parties and
the diminished rump of the Liberal Democrats: to assemble a UK majority with the
support of all the smaller parties of the centre and left, Labour would probably need
a higher vote share than the 35 per cent the party achieved in 2005.

Net seats a Labour-led alliance must win for a majority of 1 (after boundary changes)

Labour/ Labour/ Labour/ No LD LD
SNP SNP/small =~ SNP/small recovery recovery
parties parties/LDs

Labour seats required 53 46 38 71 (Eng) 55 (Eng)
Labour swing in 5.3 5.1 4.8 7.5 (Eng) 6.5 (Eng)
marginal seats (ppts)
Implied UK vote share 36 36 35-36 38 37
for Labour

Small parties: Green, PC, SDLP

And it would be harder still to win a majority in England, under EVEL: an anti-
Conservative alliance would need to gain 71 seats. For Labour to win these seats
alone, without any gains by the Liberal Democrats, it would require a swing in the
key English Lab/Con marginals of 7.5 percentage points. The task would be easier if
the Lib Dems and Labour were each able to make gains in England, in seats where
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they face the Conservatives. If both parties achieved a swing of around 6.5 points
this would be sufficient for them to achieve a combined majority in England (Labour
would gain around 55 seats; and the Lib Dems 16). This suggests that it is strongly in
Labour’s interests for the Lib Dems to stage a recovery in those parts of England
where Labour is not competitive, such as the South West.

Looking at these numbers, it is clear that the task of eliminating the Conservative
majority could be relatively achievable, even after the boundary changes; while the
task of winning a UK Labour majority will be very difficult. This means there is a
good chance that no party will win a UK majority in 2020: Labour will need to give
careful thought to the many possible scenarios arising from a future hung
parliament. EVEL hugely complicates the picture, because it creates the possibility of
an anti-Conservative alliance being able to secure a UK majority but not an English
majority. Indeed it is possible to imagine an outcome where neither large party is
capable of securing majorities for both England and for the UK.

6. Political conclusions for Labour
This analysis leads to five key political conclusions for the Labour Party:

1. Labour needs to champion popular, big-tent politics to reach deep into middle
England, revive support in Scotland and strengthens relationships with
disillusioned voters in former heartlands.

2. The litmus test for Labour’s strategy is simple: can the party win over large
numbers of people who voted Conservative and SNP in 2015?

3. In the debate on English devolution Labour can ignore party interest. It should
seek reforms that reflect the national interest of England and of the UK.

4. The party needs to reflect with care on its approach to the Liberal Democrats. A
Lib Dem revival in the South West is in Labour’s interests, but a come-back in
Labour/Conservative marginals is not.

5. A hung parliament in 2020 could create very undesirable political and
constitutional problems. This makes winning a Labour majority even more
important; however an inconclusive outcome is likely and the party should start
to consider the implications.



